_ya0n sy waw‘m m;@’mmﬁm

' wmnnn‘; -w‘mm ' Bﬁk{ﬁmmmd&&w

'3 731 ,13.02. 2019 "mxn 2 MO0V DI1R NIV 172
O”U’? 'K’KT’?J‘DN m:m 201-1-0021 Helnhirhimbile)a
1T TR "7 xnn

: nmyw 3 :aenanqwn e

NP1 25 R NoRW 92 5w Hpwn MR 5 TN 4 v mavb v e
102°Mavy 92 IR I PRz wr e

D93 AN N9 vwD Taw Wk YD WY N2 WANWTI PR e

‘ e 4

1990 9NV T TIRY 7w D100 8 .MNpann 20% 92991 "::'r“ RO DY 111 TYOLORY 901 e
Rl ) "y 5" DnanD ona pUevo/nRY e

72377 9DOR

_ (Mmp125) 1 monw
xef[0,1] 93% f(x)=0 -1[0,1] Y noox ¥pd f(x) NN

) 1
x€[0,1] 3% f(x) <1 X p7 R lim I [f(x)] M dx 510 9123 0p *3 W
0

(MMp125) 2 e

: 0 . 3 . .
simx
p>-2, J' (P ) dx  NNR RO DINIR YW 09M72/°KIN2 MOIdNTT DR 1PN

(Mmp125) 3 monw
- ‘ . ===
. Zanx” nPIN MY 5w MODdNAT R OPTIINRINER . @, = 1 1 (M1 10) (R)

n=1 ' I+ -+ =+ +—
' 2 3 n

?(=R,0] onna ?[0,R) DN2 MW TR 01DNR AT MY ok (MTP1 15) (2)

(m'an 25) 4 Nw

(0,0 77p12 f(x)={Ix+3y]) mxpnondw NP IOET T PR PN

Awna nwh Ay G e R an (MMp125)- 5 798w
9w 0°7Y NXIP TR ADXT PYPND F(X, ¥) 1 G —> R OX AR 10003 DR mavpn G0
oupemp Axp G Do LR -amon f(G)={f(x,p):(x,y)eG}C R

hirviael

13.02.2019

i

25 drare




ey ———

2 ’aJ’/cfj;r

-rw: ;:n:m v’7w mne

,,:?

1 79N

xe[O,l] 591 n 92Y m.x‘e[O,l] Yh f(x)<lwma |
0<[f]" <[f] <

a/o / ‘D *u( 015NN 1997 1AM NPHIM 170 { J'[ f(x)] dx} 7707 72 Y
. n=1 .

o™p e= —( f@)=1]) MW 0<a<lwmm Wk f(x) 9w mosn09, f(@)>1-v P 0<a<lovpwrmrm

-w yMam .a— 6‘<x<a+5 pp) f(x)>1+a 10<a—- §<a<a+6<1-w1: 6‘>0

a+d a+d

j[f(x) [dex [[f(o] de2 f[l%g] de=[1+¢]" 26)

a-6 a-o

, K&M (trg)'2 o0 (5 lim f[f(x)]"dx=°o 1%
e ‘ 0 ,

E fl.’:—é//é- L=t ))/33)) R4 X plee
| Ax =< Vs , X= ¢z e
S (23) T E
P x .t /0/3 g ﬂTZ
0

st - / / e '-/

0 - . 7
e gput~ P pqede> des L
[ — At 7~ ] _;ﬂ‘”‘ e '
6 l € r ) L : . i}?l&
, /)“(J/ osdad ! f ’)/ﬂg"?.,, }Wf/ / 27 oA
| a
cdzo F NP Y id
Az1 P

. . .
' ‘([ﬁ)\/\’) 0/.)./2// /\} {724//( j/(

/cf,ﬁu/ﬂ//(/y ﬁ?{//lf /—7 74/0 <4 é,—
5 * Lopo o/

P s dE Ve
o DN / /W% {72(/ < _5/( o AE7 P
& - . P2« A4
=) ‘0 >

jo Pr2z 2
3

= (O
- Z A/O 4/]

R




(Ey,.
: S :
(n+1)(1+1+...+l)
2 n
1 1
[+—+..=2>1-0 150
n
. a i ’
R =lim|—2|=1 -5 mw moioni 071 121587 1727 5% 13%,lim 11 1 =0
Il—)wa n—r0
n (n+1)(1+—+...+—)
2 n i
)
__ Imgpamonong
T 1. 1 o W
a, =1+— —2 =— !
2 n 1+1+...... +1 n
,73amn Z— ol 15 73N Za =
k=l B
S x=- -1 pgzﬁ
hma =0-w %23 11m1+1+ +l=oo -w e, a,,, <a, n Y50
n—)oa n—>00 n

,01onn Za (=1)" M 7212*% man b 13'7

el(4 71,"2//0 o/ (; 20l A@d, Cc)(/\/ g ,fy s ol
/ NCEBY (G-I W e JE) X

/. (00)=-—f( ) =—x|

£1.(0,0) -—f(O M= ly_o =

£0,00=0
A f(x,y) 108 PRI

f(x,9)=r0,0)+f".(0,0x+ f',(0,y)+gp=x+y+gp
PEO MW p=1/x>+p> WK
_(3/;+%[;)3-x—y_3{'/;;+33xy2
] PP
g Hx'x xR __6x + 8 7; W=y -wmnoK
P VI

(0 0) -1 PPN RINDT XY f(x, y) - MW AT p — 0 WK 0-’7 qmw R & 1:’7

T

G 1




¢ "

G o€ )/ pk /o
( j/ o€ P/ LAl )INIP DD ;7
s S 09 AT oy / K= S e
/ ))’)/20/ ))/pr/) /)}/A)/’) .
- aEomty s G

A /.
VD37 3V In
REAYN, z/J//Mj INOD S (- K

J/QQ?) = 3”2'(-(7

Y e
(2’,—5)(///4’_ Y/ C>o 5; 0 s€ pNON w5 G e
N7y ((5 }U)/N/q 7{[67) -4 f}/f/JJ’/ )-’21727é ;?29
: P — C _» f
e ——ap e ,y;/"},/ 1z
r/Q P,

(P (gl ) (0300 E A
A Y Y14 /’Mﬂ/%/%;jf/p
. ~ A A
Jy= (xc-%)+(4=99* eI Al J”?’”
o (% (j,,))@f G b 2077/ j@@j)z IR

Jf(f/(ﬁ/%,;ﬂ)@ @0 5 Y 4xe s ﬂ@j/ $nic
g et ol (D iy (@) <R

hﬁ""é,“'«)‘v/fp ///S/H“)/ZO ' /)/ aNIon I

D/)//ﬂ/) /{[ ’
5 5 o




